
Lecture	
  2	
  
Atoms,	
  Nuclei	
  &	
  the	
  Curve	
  of	
  Binding	
  energy	
  



Toolkit	
  –	
  Lecture	
  #1	
  

•  1	
  kilotonne	
  =	
  4.184	
  x	
  1012	
  J	
  	
  	
  	
  	
  (or	
  	
  	
  	
  1	
  gm	
  TNT	
  =	
  1	
  kilocalorie,	
  kcal	
  )	
  

•  1	
  eV	
  =	
  1.602	
  x	
  10-­‐19	
  J	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (or	
  	
  	
  	
  1	
  J	
  =	
  6.24	
  x	
  1018	
  eV	
  )	
  

•  1	
  e	
  	
  =	
  1.602	
  x	
  10-­‐19	
  Coulomb	
  	
  	
  	
  (or	
  	
  	
  	
  1	
  Coulomb	
  	
  =	
  6.24	
  x	
  1018	
  e	
  )	
  

•  e2	
  	
  =	
  1.44	
  MeV	
  �	
  fm	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (	
  1	
  fm	
  =	
  1	
  fermi	
  =	
  10-­‐15	
  meter	
  )	
  

•  ħc	
  	
  =	
  	
  197.3	
  	
  MeV	
  �	
  fm	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (	
  	
  ħ	
  	
  	
  =	
  	
  h	
  /	
  2π	
  	
  )	
  

•  1	
  mole	
  =	
  6.02	
  x	
  1023 	
   	
   	
  (Avogadro’s	
  number)	
  

•  c	
  =	
  3	
  x	
  108	
  m/sec 	
   	
   	
   	
  (Speed	
  of	
  light	
  in	
  vacuum)	
  

	
  





Size	
  of	
  the	
  nucleus	
  &	
  the	
  enZre	
  atom	
  

If	
  the	
  nucleus	
  were	
  scaled	
  up	
  to	
  be	
  the	
  size	
  of	
  a	
  marble	
  (~	
  1	
  cm),	
  then	
  the	
  cloud	
  	
  
of	
  atomic	
  electrons	
  would	
  extend	
  over	
  to	
  McLaughlin	
  Hall	
  (about	
  100	
  m	
  away)	
  !	
  



Ernest	
  Rutherford’s	
  sca]ering	
  experiment	
  (>100	
  years	
  ago)	
  

“It’s	
  as	
  if	
  you	
  fired	
  a	
  15-­‐inch	
  Naval	
  shell	
  at	
  a	
  
piece	
  of	
  Jssue	
  paper,	
  and	
  it	
  came	
  back!”	
  	
  	
  

Ernest	
  Rutherford	
  



NotaZon	
  

Al	
  27	
  
A	
  

13	
  Z	
  
(but	
  usually	
  not	
  wri]en)	
  

A	
  	
  =	
  	
  Mass	
  Number	
  	
  	
  
	
  	
  	
  	
  	
  =	
  	
  Number	
  of	
  protons	
  +	
  neutrons	
  
	
  	
  	
  	
  	
  =	
  	
  Z	
  +	
  N	
  

Z	
  	
  =	
  	
  Atomic	
  Number	
  	
  	
  
	
  	
  	
  	
  =	
  	
  Number	
  of	
  protons	
  



Examples	
  	
  (apologies	
  for	
  the	
  cheesy	
  graphics)	
  	
  



The	
  nucleus…	
  
•  Is	
  very	
  small:	
  	
  	
  	
  R	
  ≈	
  r0�A1/3	
  	
  	
  	
  	
  	
  	
  	
  	
  

–  	
  	
  	
  r0	
  	
  ≈	
  	
  (1.2-­‐1.4)	
  fm	
  

•  Reasonably	
  sharp	
  edge	
  

•  Nuclear	
  force	
  is	
  strong	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
&	
  short	
  ranged	
  
–  	
  Range	
  of	
  force	
  	
  ~	
  1	
  fm	
  

•  Z	
  	
  ≈	
  	
  N,	
  for	
  light	
  nuclei	
  
–  But	
  heavy	
  are	
  neutron-­‐rich	
  
	
  

•  Can	
  have	
  many	
  isotopes	
  	
  	
  
for	
  each	
  element	
  

	
  



Masses:	
  	
  e,	
  p,	
  n,	
  1H,	
  u	
  …	
  	
  first	
  in	
  MKS	
  

•  me	
  	
  =	
  	
  9.109	
  x	
  10–31	
  kg	
  

•  mp	
  	
  =	
  	
  1.673	
  x	
  10–27	
  kg	
  	
  	
  	
  (bare	
  proton,	
  not	
  
	
   	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  	
  a	
  hydrogen	
  atom)	
  

•  mn	
  	
  =	
  	
  1.675	
  x	
  10–27	
  kg	
  

•  mu	
  	
  =	
  	
  (1/12)	
  x	
  (Mass	
  of	
  12C	
  atom)	
  

	
  	
  	
  	
  	
  	
  	
  =	
  	
  1.661	
  x	
  	
  10–27	
  kg	
  	
  	
  (a.k.a.	
  “a.m.u.”,	
  or	
  “u”)	
  

	
  Note	
  the	
  proton	
  and	
  neutron	
  are	
  almost	
  the	
  same	
  mass.	
  
Note	
  proton	
  is	
  roughly	
  2000	
  Zmes	
  heavier	
  than	
  an	
  electron.	
  



On	
  the	
  missile	
  delivery	
  side	
  of	
  the	
  equaZon	
  …	
  



Atomic	
  masses	
  mpc2	
  =	
  	
  938.272	
  MeV	
  
	
  
	
  

mnc2	
  =	
  	
  939.565	
  MeV	
  
	
  
	
  
mec2	
  =	
  	
  	
  	
  	
  	
  0.511	
  MeV	
  
	
  
	
  
	
  

1	
  Atomic	
  Mass	
  Unit	
  (amu)	
  
is	
  defined	
  to	
  be	
  1/12	
  of	
  	
  
the	
  mass	
  of	
  a	
  12C	
  atom	
  :	
  	
  
note	
  it	
  includes	
  6	
  electrons!	
  

Mass	
  1	
  a.m.u.	
  	
  =	
  	
  muc
2	
  	
  =	
  	
  931.494	
  MeV	
  	
  =	
  	
  	
  	
  1/12	
  	
  ×	
  

What	
  you	
  oqen	
  see	
  in	
  the	
  Nuclear	
  Data	
  Tables	
  &	
  Charts	
  is	
  the	
  Mass	
  Excess:	
  

Δ	
  (Z,N)=	
  (	
  M(Z,N)	
  [amu]	
  –	
  A	
  )	
  ×	
  	
  muc
2	
  	
  [MeV]	
  	
  	
  	
  	
  	
  



QuesJon	
  -­‐	
  which	
  weighs	
  more?	
  

Is	
  it	
  this?	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  or	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Is	
  it	
  this?	
  



It’s	
  this	
  case!	
  
E	
  =	
  mc2	
  

Q	
  	
  =	
  	
  (Σ mi)c2	
  	
  -­‐	
  	
  (Σ mi)c2	
  
	
   final	
  iniZal	
  



Other	
  convenZons	
  for	
  mass	
  

•  Mass	
  in	
  a.m.u.	
  (a	
  pure	
  number),	
  i.e.:	
  
– Mass	
  	
  	
  1H	
  	
  	
  =	
  	
  	
  	
  1.007825	
  
– Mass	
  	
  4He	
  	
  =	
  	
  	
  	
  4.00260	
  
– Mass	
  	
  12C	
  	
  	
  =	
  	
  12.000000	
  
– Mass	
  	
  16O	
  	
  	
  =	
  	
  15.99491	
  

•  Binding	
  Energy	
  (B.E.)	
  =	
  	
  Z.MH	
  +	
  N.MN	
  –	
  M(Z,N)	
  

– Units	
  usually	
  in	
  [MeV]	
  
– You’re	
  already	
  thinking	
  in	
  nuclear	
  units;	
  c2	
  is	
  implied!	
  





h(p://www.nndc.bnl.gov/chart/	
  	
  -­‐	
  very	
  useful!	
  



Analogy:	
  	
  Think	
  of	
  the	
  Chart	
  of	
  the	
  Nuclides	
  as	
  a	
  	
  
topo	
  map	
  of	
  a	
  valley	
  (below	
  Moab	
  Rim,	
  Utah)	
  



A	
  =	
  140	
  



A	
  =	
  141	
  



Let’s	
  calculate	
  a	
  Q-­‐value	
  of	
  a	
  reacZon!	
  
Let’s	
  do	
  the	
  reacZon	
  by	
  which	
  Chadwick	
  discovered	
  the	
  neutron	
  

4He	
  +	
  9Be	
  	
  è	
  	
  12C	
  +	
  n	
  
	
  

Q	
  =	
  	
  M(4He)	
  +	
  M(9Be)	
  –	
  M(12C)	
  –	
  M(n)	
  
	
  

=	
  	
  (	
  4.00260	
  +	
  	
  9.01218	
  –	
  12.00000	
  –	
  1.008665)	
  ×	
  	
  931.494	
  MeV	
  
	
  

=	
  	
  	
  	
  0.006115	
  	
  ×	
  	
  931.494	
  MeV	
  	
  	
  	
  =	
  	
  	
  	
  +	
  5.7	
  MeV	
  	
  	
  !	
  



The	
  curve	
  of	
  binding	
  energy	
  



This	
  is	
  the	
  “money	
  slide”	
  !	
  	
  	
  
The	
  whole	
  nuclear	
  power	
  game	
  is	
  on	
  this	
  plot	
  !	
  	
  



Atoms	
  (their	
  electronic	
  structure)	
  can	
  	
  
only	
  exist	
  in	
  discrete	
  energy	
  states	
  

Hydrogen	
  level	
  diagram	
   Spectral	
  lines,	
  i.e.	
  transiZons	
  between	
  levels	
  



Nuclei	
  have	
  their	
  own	
  structure,	
  and	
  can	
  	
  
only	
  exist	
  in	
  discrete	
  energy	
  states,	
  too	
  

Carbon-­‐12	
  (energy	
  levels	
  in	
  MeV)	
   Polonium-­‐211	
  (energy	
  levels	
  in	
  keV)	
  





Tool-­‐kit	
  –	
  Lecture	
  #2	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Atoms	
  
Sizes	
  	
  	
  	
  	
  	
  	
  	
  	
  ~	
  	
  	
  1	
  Å	
  	
  	
  (Å	
  =	
  10-­‐10	
  m)	
  
Energies	
  	
  ~	
  	
  	
  1	
  eV	
  –	
  10	
  keV	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Nuclei	
  
Sizes	
  	
  	
  	
  	
  	
  	
  ~	
  1-­‐10	
  fm	
  	
  (fm	
  =10-­‐15m)	
  
Energies	
  ~	
  100	
  keV	
  –	
  10	
  MeV	
  	
  	
  	
  	
  	
  

	
  
mec2	
  =	
  	
  0.511	
  MeV	
  
(me	
  =	
  9.109	
  x	
  10-­‐31	
  kg)	
  
	
  
mpc2	
  =	
  	
  938.272	
  MeV	
  
(mp	
  =	
  1.673	
  x	
  10-­‐27	
  kg)	
  
	
  
mnc2	
  =	
  	
  939.565	
  MeV	
  
(mn	
  =	
  1.675	
  x	
  10-­‐27	
  kg)	
  
	
  
muc2	
  =	
  	
  931.494	
  MeV	
  
(=	
  1/12	
  mass	
  of	
  Carbon-­‐12	
  atom)	
  
	
  

Radius	
  of	
  nuclei	
  
R	
  	
  ≈	
  	
  1.4	
  A1/3	
  	
  [fm]	
  



What’s	
  the	
  value	
  proposiJon	
  with	
  Nuclear	
  Energy?	
  
Let’s	
  compare	
  the	
  3	
  “F”s	
  –	
  	
  Fossil,	
  Fission,	
  Fusion	
  



World electricity usage - total 
 
 
 
 



World	
  electricity	
  usage	
  –	
  by	
  region	
  



World	
  electricity	
  usage	
  –	
  by	
  fuel	
  type	
  



What	
  about	
  Coal	
  &	
  Natural	
  Gas?	
  



Now	
  on	
  to	
  a	
  new	
  day…	
  


